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L 6sen mit Klammern Name:
L 6se jede Aufgabe. Antworten
1) (1+2):3=
1
2 (10-5)+4= 2
3.
3) (1+8)«10=
4,
4) (17-9)-7=
5.
5) (12:3)e1= 6.
7.
6) (19-2)+4=
8.
7) (9¢8)-50 = o
8 1+ (10+5) = 10.
11.
9 (2¢7)e7=
12.
10) (32-18):2=
13.
11) 9+9)-9= 14,
15.
12) (109 +3 =
13) (7-5):2=
14) 13+ (12:3) =
15 (20:2)-7=
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ﬂh L6sen mit Klammern Name: L Osungsschlissel

L 6se jede Aufgabe. Antworten
1) 3= :
1+2):3 1 (3:3 ) 1
2 (10-5)+4= 9 (5)+4 2 9
3 90
3 (1+8)«10= 90 (9)+10
4 1
4 17-9-7= 1 (8)-7 i 4
5 (12:3)s1= 4 (41 6 63
7 22
6) (19-2)+4= 68 (17)+4
8 16
7) (9+8)-50= 22 (72)-50 . 98
8 1+(10+5) = 16 1+(15) 10. /
11. 9
9 2e7)e7= 98 (14)+7
12, 93
10 (32-18):2= 7 (14):2 n 1711
11) 9+9)-9= 9 (18)-9 14 17
15. 3
12) (10.9)+3= 93 (90)+3
13) (7¢5):2= 17r1 (35):2
14) 13+(12:3)= 17 13+ (4)
15 (20:2)-7= 3 (10)-7
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Losen mit Klammern

Name:

L 0se jede Aufgabe.

93 9 98
7 16 17
3 1 68

22

17r1

90

D (1+2):3=

2 (10-5)+4=
3 (1+8)+10=
Y 17-9-7=
5 (12:3)-1=
6) (19-2)+4=
7 (9+8)-50=
8 1+(10+5) =
9 (2¢7)+7=

10) (32-18):2=
1) (9+9)-9=

12) (10.9)+3=
13) (75):2=

14) 13+ (12:3) =

15) (20:2)-7 =

10.

11

12.

13.

14.

15.

Antworten

Geandert
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